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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-3

BriE) | GEBAK @) | ERE(EH/AR | EREE (F/R) [ XS EFE

07:05 273 150.0 2.583 E(  FiHAe07:05 KEFEF (GRAERE)
07:40 273 150.0 2.583 5| FHEAe07:40 KEFEF (KRAEES)
08:15 273 150.0 2. 583 5| FEAC08:15 KENFEF (RAEE:E)
09:10 273 150. 0 2.583 F|  FiHAe09:10 KREFEF (RA{EREIEE
09:55 273 150.0 2.583 5| FHRe09:55 KENFERF (RAEEEE)
10:35 273 150.0 2. 583 5| FEAe10:35 KEFEFE CGRAHEEE)
11:10 273 150.0 2.583 5| FHEAe11:10 REEF (RAMEESE)
11:45 273 150.0 2.583 = FaHA@11:45 KRENFZEF CGRAMEEEE)
12:20 273 150.0 2.583 5| FHA@12:20 KENFEF (CGRA{ERNEE)
12:55 273 150.0 2.583 5| FHAe12:55 KEIEFE CGRAFESE)
13:30 273 150.0 2.583 5| FHA@13:30 KENFEF (CGRAMEEEE)
14:05 273 150.0 2.583 5| FHEA@14:05 KENFEF (CGRAIEREE)
14:40 273 150.0 2.583 5| FEAe14:40 KEIEFE CGRAMFESE)
15:20 273 150.0 2.583 F(  FiHRe15:20 KREFEF CGRAERESE)
16:05 273 150.0 2.583 5| FiHe16:05 REESF (KEERSE)
17:05 273 150.0 2.583 5| FEAe17:05 KEIEFE CGRAMFESE)
2t 4368.0 (16)%) 2400. 0 3 WHKEC: 2080.0, PH: 6.0

FHERECE (1927.0 vs 4220.0) 35
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ET (ml/hr/plant)

P3-3_0, Day=71 (2025-06-08)
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P3-3

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:55 273 150. 0 2.583 F|  {Ri1%006:55 Hah (RF{ESE
07:30 273 150.0 2.583 F  BRi1%e07:30 Ba1 (GRAERSE)
08:15 273 150.0 2.583 S| {Rige08:15 Bz (KRAMERSE)
09:05 273 150. 0 2.583 E BRi%@09:05 BE1 (RAERE)
09:50 273 150.0 2.583 F[ BR1%e09:50 BE1 (RAERE)
10:25 273 150.0 2.583 =l {Ri%@10:25 B3 (RAERSE)
11:00 273 150. 0 2.583 E BRige11:00 Bz (GRAERESE)
11:30 273 150. 0 2.583 E| {Rige11:30 Bzh (RE{EREE)
12:00 273 150.0 2.583 =l RRiB012:00 Bz (REAKEE)
12:30 273 150. 0 2.583 E BRige12:30 Bz (GRAERESE)
13:00 273 150.0 2.583 5| {Ri%e13:00 B3 (RAERSE)
13:30 273 150.0 2.583 = RRiB013:30 B (RFAKESE)
14:05 273 150. 0 2.583 E BRige14:05 Bz (GRAERESE)
14:50 273 150.0 2.583 5| {Ri%e14:50 B3 (RAERSE)
15:35 273 150.0 2.583 = RRiBe15:35 B (RFAEESE)
16:25 273 150. 0 2.583 = RRiB016:25 Bz (REAKEE)
17:25 273 150. 0 2.583 El BRi&e17:25 Bz GRAEREE)
Bt 4641.0 (17)%) 2550. 0 32 3HKEC: 2080.0, PH: 6.0

#HEKRECE (1877.0 vs 4010.0) d5
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P3-3

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

06:30 273 150. 0 2.583 E 1BRi&e06:30 Bzl (RAEREE)
07:05 273 150.0 2.583 5| {Ri%@07:05 Bz (FAERSE)
07:55 273 150.0 2.583 = {Rig@07:55 B (RAERSE)
08:35 273 150. 0 2.583 E  1BRi&e08:35 Bzl (RAERE)
09:15 273 150.0 2.583 5| {Ri%e09:15 Bz (FRAERSE)
09:55 273 150.0 2.583 = {RRiB009:55 B (RFAEEE)
10:30 273 150.0 2.583 = RRi8010:30 Bzh (REAEEE)
11:00 273 150.0 2.583 5 {Ri%e11:00 B3 (RAERSE)
11:30 273 150.0 2.583 =l {Rige11:30 B3 (RAERSE)
12:00 273 150.0 2.583 Sl {Rige12:00 B3 (RAERSE)
12:30 273 150. 0 2.583 E| {Rig012:30 B3h (RE{ERSE)
13:00 273 150.0 2.583 F[ BRige13:00 Bz (GRAERSE)
13:30 273 150.0 2.583 S| {Rig@13:30 B3 (KRAERSE)
14:00 273 150. 0 2.583 El BRige14:00 Bz (GRAERESE)
14:40 273 150.0 2.583 F BRige14:40 Bz CGRAERSE)
15:20 273 150.0 2.583 =l {Rig015:20 B3 (RAERSE)
16:00 273 150. 0 2.583 El BRige16:00 Bzl (RAERERE)
16:45 273 150.0 2.583 5| {Ri%e16:45 B3 (GRAERSE)
2it] 4914.0 (18X%) 2700. 0 32 KEC: 2080.0, PH: 6.0

##[EKECE (1820.0 vs 3907.0) d5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=69 (2025-06-06)
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P3-3

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:30 273 150.0 2.583 S| {Ri%@06:30 B3 (KRAMERSE)
07:25 273 150. 0 2.583 E BRi&e07:25 Ba1 (GREERESE)
08:40 273 150.0 2.583 (Z=| {Ri%e08:40 Bzh (FAERSE)
09:30 273 150.0 2.583 FA| {Ri%@09:30 Bz (RkA{EREE)
10:15 273 150.0 2.583 FA| {Ri%@10:15 Bz CGRAEESE)
11:00 273 150.0 2.583 FA| {Ri%@11:00 Bz (GRAEEE)
11:45 273 150.0 2.583 FR| {Ri&@11:45 Bz CGRAERESE)
12:25 273 150.0 2.583 FR| {Ri%@12:25 Bz CGRAEESE)
13:15 273 150.0 2.583 |Z=| {Ri&e13:15 Bzl (REEZERE)
14:00 273 150.0 2.583 (Z=| 1Rig@14:00 B3 (RAERSE)
14:50 273 150.0 2.583 (Z=| {Ri%@14:50 Bz (REAEBSE)
16:10 273 150.0 2.583 (£=| 1Rige16:10 Bz (RAEDSE)
17:25 273 150.0 2.583 |Z=| {Ri&e17:25 Bz (REEZBE)
23t 3549.0 (13%) 1950. 0 3Z U KEC: 2080.0, PH: 6.0

#HEKRECE (1773.0 vs 3850.0) id 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=68 (2025-06-05)
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P3-3

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

08:35 273 150. 0 2.583 E  1BRi&e08:35 Bzl (RAERE)
09:15 273 150.0 2.583 5| {Ri%e09:15 Bz (FRAERSE)
10:00 273 150.0 2.583 =l RRi80@10:00 Bz (RFAKEE)
10:40 273 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:20 273 150.0 2.583 =l RiB011:20 B3 (REAEESE)
12:00 273 150.0 2.583 =l {Rige12:00 B3 (RAERSE)
12:40 273 150.0 2.583 Sl {Rige12:40 B3 (REAERSE)
13:30 273 150. 0 2.583 E| {Rig@13:30 B3h (RE{ERSE)
14:20 273 150.0 2.583 E BRige14:20 Bz CGRAERESE)
15:10 273 150.0 2.583 S| {Rige15:10 B3 (RAERSE)
16:05 273 150. 0 2.583 E BRige16:05 Bzl (GRAERESE)
17:10 273 150.0 2.583 E| {Rige17:10 Bzh (RE{EREE)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

##[EKECE (1780.0 vs 3600.0) d 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=67 (2025-06-04)
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